

Dale Christian College



**YEAR TWELVE
2026**



26 F87 12 B

**ALL ORDERS TO BE COMPLETED ONLINE
at
www.campion.com.au
using "QKFC" as your code**

**by
Wednesday 3rd December 2025**

PREPACKAGED COLLECTION SERVICE

If choosing COLLECTION FROM CAMPION FORRESTDALE, orders must be placed online on or before the return date of Wednesday 3rd December 2025. These orders will be available for collection at the Campion Forrestdale Retail Service Centre from Monday 5th January 2026. Payment can be made on collection at the store.

If choosing HOME DELIVERY, your order will be delivered by the 28th January 2026 for \$8.00, if placed on or before the return date of Wednesday 3rd December 2025.

Orders placed after the return date can only be Home Delivered and will incur additional charges. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to our website @ www.Campion.com.au for all up-to-date information and terms & conditions.

Please tick the items required in the box provided ↓

Office Use	Description	Item No.	<input checked="" type="checkbox"/> Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
YEAR TWELVE						
Please note that some items on this Resource List are digital resources. To ensure access to digital content, school recommends purchasing a new book. New books include valid access code when required.						
Things to remember:						
<ul style="list-style-type: none"> • Digital resources are valid for 12 months unless stated otherwise. • Please choose carefully, as digital resources cannot be returned, refunded or exchanged for change of mind. 						
STATIONERY						
P55522	Eraser Plastic Pencil Economy in sleeve	1	<input type="checkbox"/>	1	0.70	0.70
P51685	Glue Stick 40gm Artline Clear	2	<input type="checkbox"/>	2	2.95	5.90
P50186	Highlighter Marker - Yellow	3	<input type="checkbox"/>	1	1.60	1.60
P55815	Markers Texta Nylonite TX200/12's Asstd/Cols	4	<input type="checkbox"/>	1	3.35	3.35
P56095	Pen Ballpoint Cap Type Blue Medium	5	<input type="checkbox"/>	8	0.35	2.80
P56096	Pen Ballpoint Cap Type Red Medium	6	<input type="checkbox"/>	3	0.35	1.05
P56166	Pencil (HB) Copperplate	7	<input type="checkbox"/>	2	0.55	1.10
P50461	Pencil Case 235x130mm Name Small	8	<input type="checkbox"/>	1	2.85	2.85
P50208	Pencils-Coloured 12's Columbia	9	<input type="checkbox"/>	1	3.10	3.10
P50090	Ruler 300mm Wooden Celco	10	<input type="checkbox"/>	2	1.10	2.20
P50161	Scissors 170mm Maped Plastic Handle	11	<input type="checkbox"/>	1	2.45	2.45
P56242	Sharpener Pencil Barrel Double Hole (EL)	12	<input type="checkbox"/>	1	2.10	2.10
Sub-total						29.20
EXERCISE BOOKS FOR YOUR SUBJECTS						
P50389	Notebook A4 250 Page 5 Subject 5 Colour #596C Spirax	13	<input type="checkbox"/>	2	10.95	21.90
Sub-total						21.90
APPLIED INFORMATION TECHNOLOGY						
P55556	Notebook (Exercise) Book 252x200mm 120 pages Spirax #593	14	<input type="checkbox"/>	1	4.45	4.45
Sub-total						4.45
CAREER AND EMPLOYABILITY SKILLS GENERAL						
P52655	Lever Arch File A4 65mm Insert White	15	<input type="checkbox"/>	1	9.95	9.95
P56328	Pocket Plastic A4 11 Hole Pkt 10	16	<input type="checkbox"/>	2	1.40	2.80
Sub-total						12.75
CHEMISTRY ATAR UNITS 3&4						
P37184	Creelman Exam Questions Chemistry ATAR 3&4 2026 [Lyndon Smith] New Edition for 2026 <i>(Optional)</i> <i>If ordered online, will be delivered in bulk to the school.</i> <i>Due approx. March 2026</i>	17	<input type="checkbox"/>	1	50.00	50.00
E20373	Step Up In Chemistry Units 3 & 4 (Digital Access Code) <i>(Optional)</i> <i>(Please choose carefully before ordering this product as once purchased, even if you have not activated or used the access code, this digital resource cannot be returned, refunded or exchanged if you change your mind)</i>	18	DIGITAL ITEM	1	59.95	59.95
P05724	WA ATAR Essential Chemistry 3&4 (includes 2Yr Access Code) [Nick Lucarelli]	19	<input type="checkbox"/>	1	89.95	89.95
P30300	WA Chemistry Yr12 ATAR Study Guide (Rev Edn) [Michael Lucarelli, David Proctor] <i>(Optional)</i>	20	<input type="checkbox"/>	1	60.00	60.00
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	21	<input type="checkbox"/>	1	41.95	41.95
Sub-total						301.85

Please tick the items required in the box provided ↓

Office Use	Description	Item No.	<input checked="" type="checkbox"/> Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
ECONOMICS ATAR UNITS 3&4						
P37185	Creelman Exam Questions Economics ATAR 3&4 2026 New Edition for 2026 <i>(Optional)</i> <i>If ordered online, will be delivered in bulk to the school.</i> <i>Due approx. March 2026</i>	22	<input type="checkbox"/>	1	50.00	50.00
P35446	WA ATAR Investigating Macroeconomics Yr 12 8E [Greg Parry, Steven Kemp]	23	<input type="checkbox"/>	1	90.00	90.00
P34031	WA Economics Yr12 ATAR Study Guide 3E [Andrew Tibbitt]	24	<input type="checkbox"/>	1	60.00	60.00
Sub-total						200.00
E.C.U. BRIDGING COURSE						
P50397	Lecture Book A4 140 Page Spiral #P906 Spirax	25	<input type="checkbox"/>	1	4.40	4.40
Sub-total						4.40
ENGLISH ATAR UNITS 3&4						
P12878	Jasper Jones [Craig Silvey] Item Cancelled	26		1	24.99	24.99
P11834	WA ATAR English Yr 12 [R Quin, W Cody & H Rayner]	27	<input type="checkbox"/>	1	63.95	63.95
P50510	Display Book A4 20 Pocket Mid Blue Refillable	28	<input type="checkbox"/>	2	2.35	4.70
Sub-total						68.65
ENGLISH GENERAL/FOUNDATIONS						
P50510	Display Book A4 20 Pocket Mid Blue Refillable	29	<input type="checkbox"/>	2	2.35	4.70
Sub-total						4.70
FOOD SCIENCE GENERAL						
<i>Materials cost of \$135 charged to Term 1 Fees</i>						
P07617	Food Science & Technology: WA Yr 11 ATAR / Yr 12 [Alexander, Luscombe & McNally]	30	<input type="checkbox"/>	1	65.95	65.95
P50536	Display Book A4 30 Pocket Jewel Texture Blue	31	<input type="checkbox"/>	1	4.15	4.15
Sub-total						70.10
GEOGRAPHY ATAR UNITS 3&4						
P31940	WA ATAR Geography Units 3&4 3E [K. Bell]	32	<input type="checkbox"/>	1	76.90	76.90
P56354	Protractor 10 cm 360 4" Full Circle	33	<input type="checkbox"/>	1	0.90	0.90
Sub-total						77.80
HUMAN BIOLOGY ATAR UNITS 3&4						
P37187	Creelman Exam Questions Human Biology ATAR 3&4 2026 [Susan Fahey] New Edition for 2026 <i>(Optional)</i> <i>If ordered online, will be delivered in bulk to the school.</i> <i>Due approx. March 2026</i>	34	<input type="checkbox"/>	1	50.00	50.00
P13290	Human Perspectives WA ATAR 3&4 (Print & Digital) 8E [Whan et al]	35	<input type="checkbox"/>	1	91.95	91.95
E20661	Step Up In Human Biology Units 3 & 4 (Digital Access Code) <i>(Optional)</i> <i>(Please choose carefully before ordering this product as once purchased, even if you have not activated or used the access code, this digital resource cannot be returned, refunded or exchanged if you change your mind)</i>	36	DIGITAL ITEM	1	59.95	59.95
P30301	WA Hum. Biology Yr12 ATAR Study Guide (Rev Edn) [Glenda Leslie] <i>(Optional)</i>	37	<input type="checkbox"/>	1	60.00	60.00
Sub-total						261.90

Please tick the items required in the box provided ↓

Office Use	Description	Item No.	<input checked="" type="checkbox"/> Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
MATERIALS DESIGN & TECHNOLOGY/WOOD						
<i>Materials cost of \$135 charged to Term 1 fees</i>						
P55442	Display Book A4 20 Pocket Black Refillable	38	<input type="checkbox"/>	2	2.30	4.60
P56166	Pencil (HB) Copperplate	39	<input type="checkbox"/>	1	0.55	0.55
Sub-total						5.15
MATHEMATICS APPLICATIONS ATAR UNITS 3&4						
P37188	Creelman Exam Questions Math Application ATAR 3&4 2026 [Shanahan Mooney] New Edition for 2026 <i>(Optional)</i> <i>If ordered online, will be delivered in bulk to the school.</i> <i>Due approx. March 2026</i>	40	<input type="checkbox"/>	1	50.00	50.00
P00713	Maths Applications WA ATAR Unit 3 (Print & Dig) Rev. format [Sadler]	41	<input type="checkbox"/>	1	43.95	43.95
P00728	Maths Applications WA ATAR Unit 4 (Print & Dig) Rev. format [Sadler]	42	<input type="checkbox"/>	1	43.95	43.95
P30302	WA Math Applic. Yr12 ATAR Study Guide (Rev Edn) [Greg Hill]	43	<input type="checkbox"/>	1	60.00	60.00
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	44	<input type="checkbox"/>	1	281.95	281.95
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	45	<input type="checkbox"/>	1	41.95	41.95
Sub-total						521.80
MATHEMATICS ESSENTIALS GENERAL UNITS 3&4						
P13603	Nelson AC Senior Maths Essentials 12 (Print & Digital) 2E [Thomson & Binns]	46	<input type="checkbox"/>	1	87.95	87.95
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	47	<input type="checkbox"/>	1	41.95	41.95
Sub-total						129.90
MATHEMATICS METHODS ATAR UNITS 3&4						
P37189	Creelman Exam Questions Math Methods ATAR 3&4 2026 [Tim Oates] New Edition for 2026 <i>(Optional)</i> <i>If ordered online, will be delivered in bulk to the school.</i> <i>Due approx. March 2026</i>	48	<input type="checkbox"/>	1	50.00	50.00
P00714	Maths Methods WA ATAR Unit 3 (Print & Dig) Rev. format [Sadler]	49	<input type="checkbox"/>	1	43.95	43.95
P00716	Maths Methods WA ATAR Unit 4 (Print & Dig) Rev. format [Sadler]	50	<input type="checkbox"/>	1	43.95	43.95
P30303	WA Math Methods Yr12 ATAR Study Guide (Rev Edn) [Greg Hill]	51	<input type="checkbox"/>	1	60.00	60.00
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	52	<input type="checkbox"/>	1	281.95	281.95
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	53	<input type="checkbox"/>	1	41.95	41.95
Sub-total						521.80
PHYSICS ATAR						
P36854	Pearson WA Physics 12 (SB Print & Digital) 2E [Greg Moran et al] New Edition for 2026	54	<input type="checkbox"/>	1	99.95	99.95
E00338	Step Up In Physics Units 3&4 (Digital Access Code) <i>(Optional)</i>	55	DIGITAL ITEM	1	59.95	59.95
Sub-total						159.90
SCIENCE IN PRACTICE						
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	56	<input type="checkbox"/>	1	41.95	41.95
Sub-total						41.95

Please tick the items required in the box provided ↓

Office Use	Description	Item No.	Item Reqd <input checked="" type="checkbox"/>	Qty Reqd	Unit Price \$	Total Amount \$
VISUAL ART (GENERAL)						
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	57	<input type="checkbox"/>	2	9.55	19.10
P58510	Eraser Plastic Pencil Large With Sleeve	58	<input type="checkbox"/>	1	0.40	0.40
P56146	Pen Drawing UniPin 200 0.5mm Black	59	<input type="checkbox"/>	1	3.90	3.90
P56176	Pencil (2B) Copperplate	60	<input type="checkbox"/>	1	0.55	0.55
Sub-total						23.95
CERTIFICATE II WORKPLACE SKILLS / CERTIFICATE III BUSINESS						
<i>VET Levy \$80.00 charged to Term 1 fees</i>						
Sub-total						0.00
CERTIFICATE III MUSIC (PERFORMANCE)						
<i>VET Levy \$80.00 charged to Term 1 fees</i>						
P55447	Display Book A4 20 Pocket Grey Refillable	61	<input type="checkbox"/>	1	2.35	2.35
Sub-total						2.35
CERTIFICATE III SPORT AQUATICS & RECREATION						
<i>VET Levy \$80.00 charged to Term 1 fees</i>						
<i>Current sports uniform is compulsory for this subject - available at the Uniform Shop</i>						
P50510	Display Book A4 20 Pocket Mid Blue Refillable	62	<input type="checkbox"/>	1	2.35	2.35
Sub-total						2.35

ADDITIONAL NOTES

- 1) STUDENTS WILL REQUIRE THE USE OF A CHROMEBOOK
- 2) Students need to supply tissues - either 4 boxes of 100 sheets or 2 boxes of 200 sheets. **THESE NEED TO BE BROUGHT IN AT THE BEGINNING OF THE YEAR AND HANDED IN TO STUDENT SERVICES**

Number of Boxes ticked:

Postage (Home delivery only) \$18.00

ESTIMATED AMOUNT DUE \$
 (PRICES CORRECT AT 19/01/26)